BSSGRRLY
;:5’('\:): ikt b

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

o
[=———112.25" MAX. OVERALL FRAME WIDTH ‘( k LRRREELL.S

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

DIRECT GLAZED FIBERGLASS DOORS i J §
O 5
SINGLES w/ SIDELITE(S) :
INSWING / OUTSWING 28 || o x k] o L
"NON-IMPACT" =2 g5 . . | 2%
- | 8
& = o L 25
5 |Y W
— B |42
5 |58
3 | "
EVALUATED FOR USE IN THE STATE OF TEXAS o g 0%
The Fiberglass Door system described herein complies with the 2018 International ol

Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code

(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: o IId x x LI o

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. X0

3. Allowable design pressure requirements must be equal to or less than the design ox -
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis. CONTINUOUS HEAD & SILL

TABLE OF CONTENTS

REVISIONS

SHEET # | DESCRIPTION
Typical elevations, design pressures & general notes

5/26/20 |[UPDATE TO 2018 IBC/IRC CODE

NO,| DATE

1

2 Door & Sidelite panel details

3 Elevations

4 Horizontal cross sections =
5 Horizontal & Vertical Cross Sections OATE: 4,/29/19
6 Vertical Cross Sections — SCALE:  N.T.S.
7 Frame anchoring 74.75" x 82.0" oW, BY:  MT
8 Hardware details OXO 112.25" x 82.0" +55.0 -55.0 CHK. BY: LFS
9 Components DRAWING NO.:

10 Bill of materials & components TX—4919

SHEET 1 ofF 9

R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4919.dwg, TX-4919

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4919.dwg, 2.3

~ L o
3.65" SeXnind gyt ‘-
0.4" —— | t— INTERIOR ;+Y~?...‘ :. S .5 'v...:? ".': g o g g
AN £% 2 . 4@
S _,-‘ 1 Qim o o . ] = e
T[T N) \ A AR EIEDE ga%fg v ce 2%, gl
LIt PPl in Sk iz io M c? G- g%
= % ~ Z A I~ A ox B o2 £
RERRRERERERR T T NERRRRARREAR i - Y%, i8] 38 233 &2
L] \ N O I 2 QS wreeii Z e T 3335 A%
e )/ N—Ahl > ‘ TOP RALL — [ s v 205 Lb
\ TS 5 SR. o
& & own - KR
EXTERIOR (COMP.) = . o xS oF
CAP (PVC) STILE (LVL) EXTERIOR Rena 7 242 s,
PR 8 368 gu
MR & REE 8%
/ 1"\ HORIZONTAL CROSS SECTION . £ § of
2 2 g EB
U FIBERGLASS SKIN — | v Lee 3 "
R la)
35.75" DOOR
WIDTH
24.813'D.LO.
WIDTH "
GLA]\g BITE | o§ E9
= -
INTERIOR ——— 3/4" OVERALL GLASS THK. ou |.. B
— xon |3 9=
a 1/8" TEMPERED GLASS Fa |2 g
o € |7 a2
@ o | . EXTERIOR INTERIOR ca [ %
<~ & = l \ 4 = o
1 | AR SPACE 2 g
5 2 I | / 7 * ‘ 1/8" TEMPERED GLASS =
et fuw] wn
o I ALUMINUM SPACER S
x O Py EXTERIOR
S £ @\ GLAZING !
a g TAPE 3
D o f @ GLAZING DETAIL ' o
o~ N P.- .. 3 =
N~ ~O . > P o b (]
P W o e %
A\ E 7')
SEE HARDWARE g =
CHART —3— ol ™
s 3 g w
T <
: ARDWARE TARLE FOAMCORE — ([ ». .,° =
.. b "I7 T o
: P N
% A e N e '<_E
.............................................. X e — \ D
é AR KNOB: YH COLLECTION 15
DEADBOLT:  YH COLLECTION BOTIOM RALL —1 4/29/192
DATE:
40 ) ELASTPRO DOOR PANEL ewkser | KNOE: SIGNATURE SERIES {COMF) 22 | scaE: N.T.S.
@PLASTPRO SIDELITE PANEL DEADBOLT: SIGNATURE SERIES (980) DWG. BY: MT
SCHLAGE | KNOB:  F-SERIES (F51) / 2\ VERTICAL CROSS SECTION >
DEADBOLT: B-SERIES (B40) 2/ e Mo
FIBERGLASS SKIN: 0.075" MIN. THK. TX—4919
FOAM CORE: XPS FOAM (1.3 PCF MIN. DENSITY) —"N

© 2019 R.W. BUILDING CONSULTANTS INC.



"ON| SLINVLINSNOD 9NIa1ing "'Mm's 6L02 @

Z2S8LL—d # NOILVYLSIOZY 40 31vOI4ILy3D g SNOISIAFY SIva ToN

SY3INIONT TVNOISS3J0¥d 40 a¥vog Svx3l ol . 9_

T m—— =LA S S471| 3000 2¥1/081 8102 0L 31vadn| 0z/9z/s| | N S v 2
, . o AIGN3SSY 90 1avd ol=|T |7 2|8

S6SEE TId OOWIPA 0£Z XO8 ‘O'd @W N[ = s ¥
"ONI ‘SINVLINSNOD ONIaling AN L2 d 3_

¥00a SSV19434l4 MR ER
CZLYOL# 'I'd Swxal ONI 04d1SY1d bl le|elE m
‘A'd PIWYDS ‘4 uopui :Ag pedpdaig sjuswnooq :10NQA0¥d S % W m W .“m

.............

UL

%

.........

........

s veeces ~

DRSS TTI RPN
%

-

573

X

N

lll"‘ ¥
11\_1

q

p

q

>

ELEVATION
OXO

el
T w0 .N/

=10

<
) L
N w0

&

€€ 'DMP'6L6p-X L\sbuimelq - D\vedwi-uoN paze|9 122414 £50L ¥A - IAL\IAL - S\LNINVNYId du| ‘oidise|d\siuslD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4919.dwg, 4.3

_ 0.15"CSINK
(TYP)

QP -

®

A

AN

<
I
T

Ac

=

INTERIOR

N

1

EXT. SHEATHING j

s
& E@

/"1 "\ HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)

NOTES:

1. Spacing for item J & L: é" from each end and 4 more equally
spaced along sidelite jamb (6 total).

2. Spacing for item J @ head &sill: 6" from ends (2 total).

SEENOTE 1

e

(ST LT /LTS

L

RN

//

EXTERIOR

Vo

/ ' jt
LLL YL A,

/”5 \ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

SEE NOTE

N

(50

/"2 "\ HORIZONTAL CROSS SECTION
W Outswing shown (Inswing similar)

J2457745 777

EXT. SHEATHING \ Il

S

I/

12 SEENOTE 1

/~6 "\ HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar)

EXTERIOR

EXT. SHEATHING ‘\

EXTERIOR

<

INTERIOR

A\

/~3"\ VERTICAL CROSS SECTION

W Outswing shown (Inswing similar)

=

EXT. SHEATHING \

LR

o 1: ..:\1113
S =k
St ist
EACEEES
= W 1O s
A to i
B’m% ud
¢O‘~. 1z
O, )

O L, 10E -
Qg i

2211“‘ ¥iZi l

N

DRYWALL

i

a3

S

DRYWALL

<

o

SEE NOTE 2 @/

INTERIOR

5

\\

EXTERIOR

/“ 4"\ VERTICAL CROSS SECTION

\U Outswing shown (Inswing similar)

ui
LY
S g )]
5
Bo B 4
ES o) o
S moz
hu O mn o
w20 2
u.m d6
w e o
g§ E oo <
O i 200 2Z
e ftw Q
2 450 @
2>m4 9
7 R
Zom o
% Q19 ©
) ON'O:Q_
O Xz
H z8 8
5 g 2
a Z=g50 O
o 50 ¢ %
& poa g
P (JE o
c )
P R
E ]
] [=
[4)
0
fa)

CERTIFICATE OF REGISTRATION # F—11852

<
S)
=W
cyee =
=0 Yo
= =
= O
e} ) SB
2 |5 "o
a2 -
=S D <
e |2 E8
3¢ |4l 8
By <] NG
5 o S
3 ol
o &
& <
o (2
D>
-
Ll
(=)
o
O
O
X
S v
ol |2
o
2 @
o
S| @
o o
=
=
Q
o
D
8
AN (]
o=
~|<C
NNI=)
wn
—lo
z

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4919

SHEET 4 oF 9

© 2019 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4919.dwg, 5

\\

INTERIOR

EXTERIOR

/ 1"\ VERTICAL CROSS SECTION

\y Inswing Sill

NOTE:
1. Spacing foritem J & L @ head & ill: 6" from each
end (2 total).

INTERIOR o\ EXTERIOR

SEENOTE 1 &
Cl ] (21)(25)28)
) b
| ==

N\

AL AL

=
o
O
O

/"5 "\ VERTICAL CROSS SECTION

W Inswing Sill

INTERIOR |

| EXTERIOR

/" 2"\ VERTICAL CROSS SECTION

W Outswing Sill

\\

5

INTERIOR

@)

[ EXTERIOR

m VERTICAL CROSS SECTION

w Outswing Sill

INTERIOR

ON

SEENOTE 1

.

=

EXTERIOR

P ) wOOD

D ) CONCRETE

/"6 "\ VERTICAL CROSS SECTION

\y Inswing Sill

D)

\\

WOOD/CONCRETE
SUBSTRATE (TYP.)

INTERIOR

P ) WOOD
D ) CONCRETE

m VERTICAL CROSS SECTION

\5/ ADA Sill

\\

N

EXTERIOR

1111170111771

O

SEENOTE 1

SUAMMRARTR VNN

7“7\ VERTICAL CROSS SECTION

\y Outswing Sill

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

xx %]
(&Y} v
=0 O
=0 o

oz
O s )
x b B
a? |m G
('7)3 S| Ow

[45) il =wn
oE |9 &
OCp |« =

O
3 o
o) &
x <
o [a
D=
Ll
L
o
o
O
0
x
S |»
o [z
o
o B
o
Q| @
x
2
&
a
a
=
8
L
o=
NE
wn
—lo
z
OATE: 4,/29/19
SCALE:  N.T.S.
DWG. BY: MT
CHK. BY: LFS
DRAWING NO.:
TX—4919

SHEET 5 ofF 9

/

© 2019 R.W. BUILDING CONSULTANTS INC.



‘ON| SINVLINSNOQ 9NIa7ing "M'd 6102 §

ZS8LL—1 # NOILVYLSIOFY 40 3LVOIAILNTD ¥ SNOISIATY
SY3I3NIONT TYNOISSIJ0¥d 40 a¥vog Svxal A8 J1vd |ON
ONIJOHONY IWVY4 o . 9_
SELBEEEELE FEN Bueuy : S41| 3000 2d1/081 810Z 0L 31vadn| 0z/9z/S| | NI =~ L o
G6SCE 14 OOWIDA 0gZ Xog .o.m%g CATGWN3ISSY 0 14vd ol = = . @ &
"ONI 'SLNVIINSNOD 9NIaTINg ﬂ < g ] 6_
¥00a SSv19¥3ald M IR AR
SZLYOL# "3'd Svxal ONI 0d4d1SYld I E &
‘3'd ‘IPIWYydg ‘4 uopui :Ag peadpdsud sjuawnooq :19NA0¥d W W m M w W._
Q.“Nh&ﬂ:

L (dAL) XYW
D01

ol = (dA) (*dAL)
_ 9 ||A 9
L

NI

|

OXO

AL JA

- %)

o b1

= =
= W\.I < —
S =7 D
: W o8 =
S E a=

% =

x

| (dAL) XYW
poYo Rl

o (‘dAL) - (dAl)
| _A’ 9 IVA 9
| l | | | I
t
o)
2

FRAME ANCHORING

>
-}
4
O
L
w
o.
wn
<
A
L
oz
e ]
a
L
oz
o
P4
Q
]
s
24
(©]
e
&)
L
o
=2
a
L
oz
L
(2’4
<
(%¢]
o
©)]
r g
®)
P
<
L
[%¢]
L1
=
—
Lii
[
@]
Z
*

w
|
oz
O
Z
O
O

EZ -
Ve
_ I

SILL (TYP.)

AL JA
X0 /OX

/) (I
¥
" HEAD & JAMBS
(TYP.)

(TYP. @ HEAD & SILL)

NOTE: FRAME CORNERS ATTACHED w/
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.)

9 'BmMp6L6Y-X L\sBuimelq - D\idedw|-uoN paze|9 128110 £50L ¥A - 1ALNIAL - S\LNINVINYId du| ‘0idise|d\siuald\y



"ON| SANVLINSNOJ aNIaing "M'd 6102 @

ZS8LL—3 # NOILVHLSIORNY 40 3LVOIdILN3D SNOISIAIY EIC T
SYI3NIONT TVNOISSIH0¥d 40 a¥vo8 Svxal SIVIIA IIVMaNYH m}um_.N S DEEE B ol S e ] L o gl=lo| o 9_
L0 O w8 o mc.oc.n_\Sw "KIBW3SSV_90 19vd NN EIRIE
SBSELE 14 O9MIPA 0£Z xog ‘O'd K Q| = P
"ONI ‘SINVIINSNOO 9NIaTINg AN . z | _/_
Y004 SSv19¥3dld MR IERS
SZLYOL# '3'd Svxal ONI 0ddLSYid HIEI e m
‘3'd ‘IPIWYDS ‘4 uopuk) :Ag paupdeaig sjuswnoog :10NAa0¥d 219 W mW m 5
i
Q=
<<
%QW e
s @
— & =
2 / 2
i/ S E=— ] b
Y ; JER =T ﬁm B B B W
— = A T.qulLT ST 1§ —] o
elel INV¥4 40 dOL
@\\ _ ' WO¥4.5TL6
__(awvrdodoLol) cc -
3 | STL6E " el
AN ; — ) =
T oI5 7 8 Y = =
() 2= ¥ M m = —
- = pe )
= =5 &I <
ele? 5o H
<05
mB0o = Q
a5 L
- <
Q
M .
X
=
<
=
Q
>
© © ®@ » :
& m w
2 e 2 08 | o ]
GO = 3 a0 = 2 —— 3 2
- - | - = < i - == = w /\ H A
| =3 : 1T & 5 S
_ = & 3 s ar
=
N g G m > o
© T ® B 3
S Y | 3
2 @ s
o
5

L 'Bmp6L6Y-X1\sBuimelq - D\iedwi-uoN paze|9 192414 £50L ¥d - IAL\IAL - B\LNINVINYId U] ‘Oidiseld\siuaD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4919.dwg, 8

4.56"

r— 1.4" —

20 INSWING THRESHOLD

Endura (Z-Series)

4.56" '

= 1.37" =]

INSWING THRESHOLD
Columbia

24

L‘ 4.57" ‘

C I

U

INSWING THRESHOLD
27 DLP

——1 1.23"

SIDELITE
ADAPTER

4.56" !

21 INSWING THRESHOLD w/ SIDELITE ADAPTER

Endura (Z-Series)

SIDELITE
ADAPTER

&
! 4.56" |
25 INSWING THRESHOLD w/ SIDELITE ADAPTER
Columbia
i 212"
T [
e
! 4.57" !
INSWING THRESHOLD w/ SIDELITE ADAPTER
28 DLP

22 OUTSWING THRESHOLD

Endura (Z-Series)

L].s"——

4.56"

- 14"~

2 OUTSWING THRESHOLD

Columbia

2||

4.55"

—

29 OUTSWING THRESHOLD

DLP (QOSR)

L— 1.75" —>’

AN o

26. 24

Lyndon F. Schmidt, P.E.

TEXAS P.E. #104123

813.659.9197

SIDELITE
ADAPTER

L].s" —

! 4.56"

23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER

Endura (Z-Series)

-

| 456"
ADA THRESHOLD 1
. DLP

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PRODUCT:

PLASTPRO INC
FIBERGLASS DOOR
COMPONENTS

PART OR ASSEMBLY:

LFS
BY

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO.| DATE

REVISIONS

DATE: 4,/29,/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4919

SHEET 8 oF 9

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4919.dwg, 9

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 2X FRAMING (G >=0.42 WOOD

C 1/4" MAX. SHIM SPACE -

D 1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL

G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

J #10 X 2" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL

1 POLY FIBER JAMB COMP

3 MULLION (PLASTPRO) PVC/LVL

6 DOOR SWEEP PVC

7 WEATHERSTRIP FOAM

9 #9 X 3/4" PFH WOOD SCREW STEEL

11 4" X 4" HINGE STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL

14 10-32 X 3/8" PFH MACHINE SCREW STEEL

15 #12 X 2-1/2" PFH WOOD SCREW STEEL

16 #8 X 2-1/2" PFH WOOD SCREW STEEL
20 INSWING THRESHOLD ALUM/COMP
2] INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 OUTSWING THRESHOLD ALUM/COMP
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 INSWING THRESHOLD ALUM/COMP
25 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
26 OUTSWING THRESHOLD ALUM/COMP
27 INSWING THRESHOLD ALUM/WOOD
28 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD
29 OUTSWING THRESHOLD ALUM/WOOD
30 ADA THRESHOLD ALUM
32 #10 X 3" PFH WOOD SCREW STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

TTW BUILDEX | 3/16" 1-3/4" 3 1-1/2"

TAPCON® 1/4“ 1_3/4!! 2" 4u
ELCO n " b
utrracon® | 174 1-3/4 ‘" 4

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws to prevent the splitting of wood.

L
e ]
g2, B
K £« g uo
g Gu 698 o
o1 - z” =)
g [ L
o ™ i Noow
" 4 2] 0w 9 3
4.56 s S5 E o <
| 4 8% Z32 3z
4 c- S<tw Q909
s | I 1 r 1 I _,>‘ Jgwo 0 :
d>mp 0 x
= n 2 Wk
Eg . x a . ; 5 1 : e (Z) g o 8 o
S ':l— - o x2 ¥
- ' © 3 287 5.
b4 — S 2 355 2.
) 509c =
& Do 5 5
m =
POLY FIBER JAMB 2 § e
Plastpro PF Jamb 2 e:; <0
Wo
3 =
[o]
o
[—— ] .5" —
& n
: =]
( -‘ =8 | =2
. = o
4 W
LVL\%_ . QO:U(,)) Y
¢ > <O
PVC - LS |3 =<
' / 28 |33
7/ g o
2 “ ] i |4
¢ j ™ LT < ;QS
Zhy /1 b = x| M
(i 21 7. g 18
2z, s e
) AP, /X — & =
% ./
LG70450045 745777 j * E >
o
| 2.5"
]
3 }INTEGRAL MULLION S
Plastpro (3-Piece) »
X
S |»
of |=z
(@)
® »
]l @
S o
W
CONCRETE ANCHOR NOTES: =
1. Concrete anchor locations at the corners may be adjusted to maintain the min. o
edge distance to mortar joints. =
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to Q
maintain the min. edge distance to mortar joints, additional concrete anchors N Ll'—"
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. Q<
3. Concrete anchor table: } a
IN::CLEARANCE | —lo
10 =

DATE: 4/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX-4919

SHEET 9 oF 9

© 2019 R.W. BUILDING CONSULTANTS INC.



